REVIEW D

Find the value of each of the following:

(a) (b) (c)
63 + 29 199 + 472 35 +78 + 65
554 — 183 463 — 398 500 - 75
5%x5 4 x 6 10x9
18 =2 27 + 3 50 - 10

$6.15 + $2.85 $7.05 — $5.55 $3.40 — $2.95

John had a rope 36 m long.
He cut it into 4 equal pieces.
Find the length of each piece.

358 adults took part in a parade.

169 of them were women.

(@) How many men were there!

(b) How many more men than women were there!

Amber bought 5 concert tickets at $7 each.
How much did she pay!?

John bought the can of milk powder and the jar
of jam.
(@) How much did he spend altogether?

(b) He gave the cashier $10.
How much change did he receive?




